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4b) What is the magnitude of acceleration of the electron in the question above?



[bookmark: _GoBack]Ans. 1) 8.0 x 10 – 3 T		2) 300 turns	3) 159 turns	4) 3.1 x 10 – T	4b) 3.43 x 10 25 m/s2
image1.png
- Asolenoid is 15.0 cm long and has 250 tums. What is the magnetic field strength
inside the solenoid if the current in the coils is 3.8 A?

. A solenoid is to be wound on a cardboard form 30.0 cm long. How many turns of
wire are needed to produce a magnetic field of 6.28 x 10-3 T, if the maximum
allowable current is 5.0 A?

. A solenoid 40.0 cm long has a magnetic field of 5.0 x 108 T when the current in it is
10.0 A. How many turns of wire does it have?

. What magnetic field strength is needed to exert a force of 1.0 x 10-15 N on an
electron travelling 2.0 x 107 m/s?




